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QUESTION 1

You want to create a new volume for Azure NetApp Files. 

In this scenario, which three fields are mandatory? (Choose three.) 

A. File path 

B. Region 

C. Virtual network 

D. Capacity pool 

E. Subnet 

Correct Answer: ADE 

 

QUESTION 2

What is the difference between a mirror and a backup replication policy? 

A. Mirror replication policies can retain more Snapshot copies at the destination than at the source. 

B. Backup replication policies are faster than mirror replication policies. 

C. Backup replication policies can retain more Snapshot copies at the destination than at the source. 

D. Mirror replication policies are faster than backup replication policies. 

Correct Answer: A 

 

QUESTION 3

Your Cloud Volumes ONTAP instance had an unplanned system outage. The instance is not highly available, and you
had data loss after the instance came back online. 

In this scenario, which OnCommand Cloud Manager provision setting was responsible for this data loss? 

A. High write speed 

B. Standard Storage 

C. Premium Storage 

D. Normal write speed 

Correct Answer: A 
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QUESTION 4

You have an AFF A800 system with a 100 TB volume. You are using all default settings and have 4:1 storage efficiency.
You are asked to replicate to a Cloud Volumes ONTAP instance for disaster recovery. The destination volume has post-
process compression disabled and is set up with the MirrorAllSnapshots policy. 

In this scenario, how many terabytes will be used on the Cloud Volumes ONTAP destination? 

A. 50 

B. 25 

C. 100 

D. 75 

Correct Answer: C 

 

QUESTION 5

Your customer is using Google Cloud Interconnect to access a StorageGRID S3 bucket from applications running in
Google Cloud Platform (GCP). From the private cloud router, the customer can ping any instances behind the GCP
Virtual Private Cloud (VPC), but the return traffic is not routed correctly. The private cloud gateway has been defined
correctly within GCP. In this scenario, which network setting should be Investigated to help your customer solve the
issue? 

A. the CIDR blocks configured on the Cloud Interconnect 

B. the Border Gateway Protocol (BGP) parameters on the private cloud routers 

C. the VLAN configuration on the private cloud switches 

D. the maximum transfer unit (MTU) settings on the private cloud routers 

Correct Answer: A 
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